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The Easter Bunny has 8 eggs in his basket. It then 

puts 5 more in his basket. How many does the 

Easter Bunny have now? 

 

The Easter Bunny buys an Easter egg for 11p and 

an Easter card for 27p. How much did it spend? 

 

The Easter Bunny is counting his eggs. He has 17 in 

one basket and 21 in the other basket. How many 

does he have in total? 

 

On Easter Sunday, if my son eats 14 eggs and my 

daughter eats 23 eggs, how many eggs do they eat 

altogether? 

 

One packet of mini eggs had 15 eggs inside and the 

other packet had 16 eggs inside, how many eggs are 

there in total? 

 
 


